I R PV PE SRR T PN AR SR

CPR2THETA 1 H B R285-6 H30H £T)

(HAL: )
i H N BREESG] B AN & 3 & B
I —fEIERRRM PE S IR D
1. R H HER O EL
(1) REHEULES
4 HY A ES & 0 600,000 600,000
= HY A = & 0 600,000 600,000
= H = # 0 15,992,000 15,992,000
iE # = # 0 15,992,000 15,992,000
# S I i 654,768,166 35,757,221 690,525,387
HE I g 0 112,323 112,323
= HY 1 B 0 33,962 33,962
e I ik 0 78,361 78,361
PR H U AS F 654,768,166 52,461,544 707,229,710
(2) #HH H 0 0
k=2 ES # 618,919,296 0 618,919,296
ES ¥ # 618,919,296 0 618,919,296
E S T "N N 614,759,387 0 614,759,387
T3 iE B 336,204 0 336,204
¥ 0B o #H O % & 3,823,705 0 3,823,705
" B # 14,581,615 52,461,544 67,043,159
% = H il 3,945,000 4,805,006 8,750,006
fia £ * Y 3,984,062 17,431,517 21,415,579
2 Al = A4 # 336,636 4,263,480 4,600,116
= i # 203,504 992,119 1,195,623
ik # A2 i # 603,220 1,989,790 2,593,010
wm = i koo % 162,333 1,461,030 1,623,363
B il & A < 1,275,032 1,587,848 2,862,880
o M B M W ' 71,322 641,892 713,214
M ¥E i # 25,652 230,862 256,514
Fll il i A # 69,964 1,931,081 2,001,045
b L VI £l # 127,036 1,143,199 1,270,235
=4 Ej B 519,912 4,679,208 5,199,120
) — A £l 1,352,429 1,443,510 2,795,939
TR [ £l 0 967,726 967,726
Fil i N B 265,400 3,744,817 4,010,217
X A A H 4 1,000,000 1,987,500 2,987,500




VAL

i H NIEEREERF] B AN & G5 =5 &t
& JE it # 238,898 716,708 955,606
it & # 401,215 0 401,215
X A ¥ % £l 0 1,065,906 1,065,906
B GF 2 0 358,250 358,250
W s # 0 522,800 522,800
HE # 0 497,295 497,295
o8 i B A 633,500,911 52,461,544 685,962,455
2 R M TR 21,267,255 0 21,267,255
2. B MR OHES
(1) FEH LA
ANV ES T 0 0 0
(2) #&H 4+
o SN E HE 0 0 0
2 R S TR 0 0 0
2 M — i L A o P A DR 21,267,255 0 21,267,255
— MR IEDR M PE M AR 144,754,843 0 144,754,843
— R AE IR PE IR R 166,022,098 0 166,022,098
O $87E EE M R 0
Y HAFE T LE R P R 0 0 0
B IEBR M PER 1 7% & 0 0 0
o E IE BRI PER AR 0 0 0
I IERRI PE IR R & 166,022,098 0 166,022,098




